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Pre-Final Examination- 2022
H.S. 2" Year
Sub- Chemistry

What is an ideal solution?

s a2

What are minimum and maximum boiling azeotrope?
o ToriTIE OIF Sooy Beairge UitrsIGe 52
What is the unit of first order rate constant?

AT T SfoarT 9 2

Why NH, does form hydrogen bond but PH, does not?
NH, (I QRG0S I o071 03 g PH, (3 e e
Specify the oxidation number of the metals in [PtCl, J*
[PtCL,J* © $IGTBiR SRy = 2

Time- 3 hrs.

1

Give one example of homopolymer and one example copolymer. 1

GBI TR @I B! IR Tzt )
What is denaturation of protein?

eifbs Rgosse 52
Write the diazotization reaction of aniline.
GiieFR St s RIEATH! &l |

What happens when aniline reacts with bromine water at room”

temperature?

Al Trests R aff #iM tTes Rigm sl & =70
Give achemical test for primary amine.

BN qizTR 9B AR 9w 0

Chloroacetic acid is stronger than acetic acid, explain.
FTAHT GRT QT GRTSI S, I |

Write the differences between schottky and frenkel defect.
B T ST G THOT T ~A1d Fr

Silver crystallises in FCC lattice. If edge length of the cell is
4,07 x 10® cm and density is 10.5 g cm, calculate the atomic
mass of silver.

fBeTeld FCC (iR 5197 1 | T e (I mifeunf
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4.07 x 10%cm TeeToRR 919 10.5 g o A “HWRS S sl gy |
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14.  Represent the cellin which the following reaction takes place ’ L ; "
Mag(s)+2Ag"(0.0001M) — Mg +(0.130M)+2Ag(s) Calculate s b) [Fe(CIN),]* and [Fe(EL,0)J* are of different colours in
E’ ., =3.17V. 2 dilute solutions. Why?
<51 (FiFe were A [EIE! At 23 &Y TS [Fe(CN),]* =i [Fe(H,0), 1> < o2 = 21 531 2
Me(s)+2Ag"(0.0001M) —>Mg*+(0.130M)+2Ag(s) ¢) What is chelate effect? Give an example.
CICt BoAgIoA 4 | (PICBT By = 3.17V E &3 R0 2refq b 2 Suigae frat |
ﬁﬁFfT 4] (7798 K Gxeel) - e d) Calculate the magnetic moment of [Fe(H,0) [**
15.  Write the differences between ordeiﬁ ax;];}q méfl:;ulanty ofarection. 2 [Fe(HLO) > 41 >R
6 Wf' ) f? f?}a; Gfﬁ‘}” f 9 A first ord l tonis found to 20.  Identify the major product of the following reactions 142=2
16. at is half life of a reaction? A first order reaction s loun ;
have a rate constant, k=5.5x10"s"'. Find the half-life of the were frat RifEmaRe 3 Risaes “[wielthl Bare 3 |
reactlon. 2 i)
ﬁl%}’-‘ w5 /% ?F]‘E'T ﬁs‘? quBT 21‘21..:{ TE ﬁﬁﬂ‘. 'EI ﬁﬁ‘)—w HJC_SZCHI + HI  ———= CHCH,Cif;l + CHLCHICH;,
k=5.5x 105! RIGFICGIF SqE =l siefl T4 | i ] 3 y
& |
17.  Write two uses of Chlorine. 2 © Mg cl
FfRe 751 <2l forl | l r Cly -
18.  Answerany two of the following questions. a4 . i Cl
R 751 &= e fral | 21.  Discuss the SN1 reaction with mechanism. 2
a) Write the electronic configuration of SN1 et i lﬁiﬂ(ﬂi ST 1 |
22.  Wriite short notes on (any two) 2x2=4
2T [
P AP ST st vt | (Rt wo1)
i)Co>  i)Cu” i) Finkelstin reaction
b) What s lan_thanmd cqntrl?ctlon? What are the consequences Reereecaen R
of lanthanoid contraction' | 1) Sandmayer’s reaction
FCRZG D] 77 (ARG Ao e 2 e AR
¢) Give two examples of disproportionation reaction. iii) Wrtz reaction
spTIEe RidFai 75! Srizad Tl - et
19.  Answer any two of the following questions. 2+2=4 73.  Distinguish 1°,2° and 3° alcohol by Luca’s test.
fRICpI 51 exf Tes | SRR Al 10, 2091 30 GETHRETS UTSR HEHf |
2) How many geometrical isomers are possible in the following 24, Discuss why alkoxy group (OR) s ortho para directing and
' co-ordination entities activates the aromatic ring toward electrophilic substitution.
o ) TG St AN A KA e T (OR) Y (ot e Ol Wi el s
e elfodiele e 5 i e i

1) [Cr(C,0,),I*" i) [Co(NH,),Cl,]
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Complete the following reactions (any two) 1+2=4

oo Rierica o 11 (Rt 61)

i
i} HyC—CH

00,
me

OH

o Conc. HNOy

") [haiuishali e g
OH

1) CHCly + NaOH
. R AL i I
iii) i)

Why « -hydrogen ofa carbonyl compound isacidic? Write aldol
condensation. 2

e I o - AT S WiES R 2 GeTes e
fRferaics! el |
Give a reaction to distinguish between (any two) 2
T IR elvew (reaIdE <ot Rifdm vl (Rt 51)
i) Propanal and Propanone
AoAICe] S LAl
ii) Petan-2-one and pantan-3-one
(ABIT-2-TT ST (ADIA-0-S
iii) Methanic acid ethanoic acid
R afZs =i TIART afe
How are vitamins classified? Name the vitamin responsible for
coagulation of blood. 2
FoBifie Rewee wlol 91 28 2 (9 (6 TILaT ATare (S
ToBifSmCBR A

Why aromatic amines are less basic than aliphatic amines? 2
R iR 1 AR RSt I FE A [ ?
Give the preparation of (any two) 2

ot 2l v | (PTGl o)
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‘ )
i)Nylon6,6 FZEH 6,6
ii)Buna-S  J1-S
iiyTeflon ~ COFe

What is Le Chateliers Principle? Discuss the effect of temperature
and pressure on it with suitable example. 3

1 ERmT RS & 2 Srizad 712 2419 8ive Savs! A 517
ASI S T4 |

What is the relation between electrochemical cell and Gibbs energy
of a reaction? The standard electrode potential for Daniel cell is
1.1V. Calculate the standard Gibbs energy for the reaction :

Zn(s)+ Cu* (aq) = Zn™* (aq) + Cu(s) . 1+2=3
Rige IR (@ s RiTaR TRg=fes R T 2
CSREE IR A Rewa S 1.1V 20 oo R e TR

g ARRS 1971 T Zn(s) + Cu®* (aq) — Zn** (aq)+Cu(s)

What is an adsorption isotherm? Describe Freundlich adsorption
isotherm. 1+2=3
SRR oI R 2 Rreefers SRCIE SN S 41
Describe manufacture of H,SO, by contact process. 3
gl AR H,SO, 3 B RITABAI 541 |

Or/agdl

Write the differences between white phosphorous and red
phosphorous.

26l THFAS S 61 FTHTAHT e AL |
An organic compound A(C,H,,0) on oxidation gives B (C,H,0),
B forms an oxime but does not give Fehling solution test. B reacts

with L, and NaOH to produce iodoform. Establish the structure of
A and B and explain the necessary reactions.

B Teraciet A(C,H,0) I&ReR ™t B (C,H,0) Besig o | B
4 o At T e creleia R Bies Ritrn v B g L
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